
��	�
���

����	��
����

�
���
��	��

������
����
�	����	�������������	������	������
�
���
���
��������
���������
����

�����
�	��
�	
����
	���������

���	�������

���������

��	���
�

&22/1	��7.323�"$���-�

��%(0"19

�
$�,����,

�(828,/ P(P�(828,/ P�::2/$ A P

�
$�,�����,	/8A($6828,/(P�

82($82 =/P(P
�6&F?A=/ 2/P

�
$�,���
�,�$/(6L(P
./4

/$.(P

�
$�,�����,�$/(6L(P(P�($6828,/(P&(22 P


./4
/$ P�6&F?A=/ 2(P

	
������
�������
����

��
���
�

��	���
�

&22/1	��7.323�"$��64���

!)�1�9

�
$�,����,����	�,

�=(?(6A L/86(P&(/P$8=?/P&/P
� F=( P�

 ,/?A= 2(P&(2P
�/: =B4

(6A8P&/P	/828,/ P
O

	/828,/ 
O

	/828,KP8*P�JA=(4
(P�6H/=864

(6A?
O

�
 =/6(P	/828,KP 6&P�<F $F2AF=(

O
�$/(6L(P	/828,/$.(

O
�$/(6L(P� AF= 2/

�
$�,���	�,��	���,

�::=8*86&/4
(6BP(P=/?:8?A(P 22(P

&84
 6&(P&(,2/P?AF&(6BP

��	���
�

&22/1	��7.323�"$�7��(�
�'3$�9

�
$�,����,

�/?/$ P

�
$�,�����,�

 A(4
 B$ 

�

�
$�,�����,� A P�$/(6$(P

�
$�,����
,�

 A.(4
 B$ 2P�6,/6((=/6,

�� �� �

����������

��	���
�

&22/1	��7.323�"$�%�5

���(�
��9

�
$�,�����,

	
������
�������
����

��
���
�

��	���
�

&22/1	��7.323�"$�8�7007���3


��	���
�

&22/1	��7.323�"$���1-�

� ��
%5

9

�%�,�����,

��������	
��
����������	����������
������
������
������

�����
���������
�����
�������
�����
�������������

��	���
�

&22/1	��7.323�"$�,

�
�(�)�#�
�9

�
$�,����,

�=$./A(DF= P��=8,(D L/86(P
�=$./A(D86/$ 

�

�
$�,�����,�(?/,6P*8=PA.(P	F/2AP

�6H/=864
(6AP

�
$�,���
�,�/ 6/+$ L/86(P�(==/A8=/ 2(�P

�=" 6/?B$ P(P
� (? ,,/?B$8��4

"/(6A 2(P

�
$�,�����,�=$./A($AF=(P 6&P�(=/A ,(P

��	���
�

&22/1	��7.323�"$��)*�

�����7%9

�(=$.NP ?$(,2/(=(PF6 P4
 ,/?A= 2(P 2P������P�

$�,�����,�6,(,6(=/ P�A=FDF= 2(P(P
��,��)&��, 

���'(&���,���,�������,"##"&()!�(+,*�&'",
�
$�,�����,�6&F?A=/ 0P"/8(6,/6((=/6,P

�
$�,���	�,�6*8=4

 B$ P
�
$�,���
�,�6,(,6(=/ P	/84

(&/$ P
�
$�,�
���,�6,(,6(=/ P&(22��FA84

 L/86(P
(P�8"8B$ P

�
$�,�
�	�,�6,(,6(=/ P&(22(P

�(2($84
F6/$ L/86/P(P&/P

�
(&/ P�/,/A 2/P

�
$�,�
�
�,�6,(,6(=/ P�2(D=/$ P
�
$�,�����,�6,(,6(=/ P�2(D=86/$ 

�

�
$�,���	�,�6,(,6(=/ P�6*8=4

 B$ P
�
$�,���
�,���

P(P$./F?F= P

�(8A($6/$ P
���	

�
�����������
��������������������	
������

�,�����,

�
$�,���
�,�6,(,6(=/ P:(=P2��4

"/(6A(P(&P
/2P�(==/A8=/8

�

�%�,���
�,
�������

������
�	���������������

�%�,�����,
�7-)-7)>1!P�!I!3)P

�
$�,�
�	�,�6,(,6(=/ P&(/P�/?A(4

/P�&= F2/$/P
�%�,���
�,

�7-)-7)>1!P�
)%%!71%!

(P&/P�= ?:8=A8P
;)>P3�
7)>-1!P)P3��5

#1)7A)P

�
$�,�����,�6,(,6(=/ P�&/2(P

�
$�,�����,�= 6?:8=A B86P�6,/6((=/6,P

 6&P�
8"/2/AKP

�%�,�����,�7-)-7)>1!P5
)%%!71%!P;)>P3!P

�>9-)E!M197)P)P3!P�>9'GM197)P
�%�,���
�,

�7-)-7)>1!P�)@C97!3)P

�%�,�����,
�7-)-7)>1!P�)>9@;!M1!3)P

�%�,��,�
�,
���

��
������������
����
�

��������
���������������

���	���������

�
$�,�����,�6,(,6(=/ P&(/P�

 A(=/ 2/P
�,�����,

�
$�,�
���,�6,(,6(=/ P
./4

/$ P
�,�����,

�(��� �(������!�(���(��(�
��� ��

�(��!!���(�������(���#�����(��(������(	�"���(

��� !����(��!����(��	


���(
�����(��� �(�� ���(��(��"���(������(���(%����(��!�����(�"�'���"��(�������!��!"��(
��� (


����"� �(���(��(��� �(�� ���(��(��"���(������(���(���#�� �!&(��(	��$(��(
�������


